Numatic International Spare Parts 231266 Numatic International Spare Parts

Model No:HVR200 / HVR200P / HYR200S / NVR200 / NRV200  seoumoos o0 S5A% Model No:HVR200 / HVR200P / HYR200S / NVR200 / NRV200

POS:|ITEM NO: |DESCRIPTION: COMMENTS:

1 227289 [BOTTOM MOTOR HOUSING

2 202069 [BOTTOM MOTOR GASKET

3 205070 [230V ES MOTOR

205075 [120 ES MOTOR

205080 [100V ES MOTOR

206420 [ES MOTOR SPACER (BLACK)

203019 |[NOISE REDUCTION PAD

227286 |[INSULATION DISC RIBBED

202087 |TOP MOUNTING RUBBER

[e=3 R [o20 [ BN

227106 |TOP MOTOR HOUSING

227176 |TOP MOTOR HOUSING 120V MACHINE

9 227107 |BLACK INFILL MOULDING

227181 |BLACK INFILL MOULDING 120V MACHINE

10 | 227141 |INNER CONTACT RING

11 | 227142 [OUTER CONTACT RING

12 | 227135 [WHEEL ASSEMBLY

13 | 227115 [TOGGLE

14 | 227132 [CABLE REEL MOULDING ASSEMBLY

227175 |CABLE REEL MOULDING ASSEMBLY 120V MACHINE

15 | 219101 |No8 X 1/2 INCH LONG POZI PAN PLASTIITE SCREW

16 | 227133 |CABLE REEL COVER

227180 |CABLE REEL COVER 120V MACHINE

17 | 219005 |M5 FORM G WASHER

18 | 227130 [BLACK KNOB

19 | 227319 |COVER + HANDLE (WHITE LOGO) HVR200 MACHINE
227321 |COVER + HANDLE (WHITE HENRY PLUS LOGO) HVR200P MACHINE
227322 |COVER + HANDLE (WHITE SIR HENRY LOGO) HVR200S MACHINE
227323 |COVER + HANDLE (GREY NUMATIC LOGO) NVR/NRV MACHINES

20 | 227108 |BLACK CABLE ENTRY

21 | 219041 |No8 X 3/4 INCH LONG POZI PAN SCREW

22 | 219104 |No8 X 1 INCH LONG POZI PAN PLASTITE SCREW

23 | 220230 |MAINS CABLE (2 WIRE / UK PLUG)

220512 |MAINS CABLE (2 WIRE / CEE PLUG)

220500 |MAINS CABLE (2 WIRE / CSA PLUG)

220056 |MAINS CABLE (2 WIRE / NO PLUG)

299038 |MAINS CABLE (2 WIRE / AUSTRALIAN PLUG)

220465 |MAINS CABLE (2 WIRE / 15 AMP PLUG)

220234 |MAINS CABLE (2 WIRE / SWISS PLUG)

24 | 220782 |230V OVERLOAD ASSEMBLY

220783 |120V OVERLOAD ASSEMBLY

220784 |100V OVERLOAD ASSEMBLY

@ 25 | 220748 |SUPPRESSOR ASSEMBLY 230V MACHINE
220365 [285MM LONG BROWN LINK WIRE 120V MACHINE
220366 [240MM LONG BLUE LINK WIRE 120V MACHINE

26 | 220552 |RED ROCKER SWITCH

@ 27 | 206431 |BLANKING PLATE
28 | 227159 |RED CONTAINER + FACE HVR MACHINES
@ 227160 |BLUE CONTAINER + FACE HVR MACHINES
@ 227161 |GREEN CONTAINER + FACE HVR MACHINES
227162 |YELLOW CONTAINER + FACE HVR MACHINES
227153 |RED CONTAINER (NO FACE) NVR/NRV MACHINES
@ 227154 |BLUE CONTAINER (NO FACE) NVR/NRV MACHINES
227155 |GREEN CONTAINER (NO FACE) NVR/NRV MACHINES
227156 |YELLOW CONTAINER (NO FACE) NVR/NRV MACHINES

®

29 | 204012 |40MM TWIN WHEEL CASTOR

30 | 227010 |BLACK WHEEL

31 | 227011 |BLACK WHEEL HUB CAP

32 | 219105 |No8 X 5/8 INCH LONG POZI PAN PLASTITE SCREW

33 | 227004 |BAG CONNECTOR

® @L@

34 | 207102 |WHITE FILTER ASSEMBLY HVR200 / NVR200 / NRV200 MACHINES

207057 [YELLOW MICROTEX FILTER HVR200P / HVR200S MACHINES

35 | 209050 |SINGLE FILTER GRID

36 | 320382 |260MM LONG WHITE LINK WIRE

®

37 | 219090 |M4 X 8MM LONG POZI PAN SEMS SCREW

©

®



Utilisateur
Note

Utilisateur
Note
Charbon moteur 
Vendu à l'unité 
REF 220702


